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J= X7t EH2E= A 3E 2Tt = He saw Minji come in.

2= &0| EE2|E NS 3|F ) = We felt the house shake.

JE2 oE AlRH0| &2 mLiE AS 21X 2UCt = They noticed someone leave the
house
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& ZHEICE = Jane watched Minji mend the lamp.
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I see this to be the logical next step. LH= 0|740| =2|%{Ql C}S CHA|2tD Azbsict.

He views her to be most wise. 1= 11 04X17} 7 1A 845ict 2.

We found the earth to be shaking under the feet. 2|= (A2t = Z D)) L0 A=H] EHO|
UWUHM ES2|10 JAAH AOICE

g4, We found the earth be shaking under the feet.0l|A{ to7} tiFRl RIS RHALT MA=EH|
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| know you to be kind person. L= &4A10| ZIESHA
They hold it to be self-evident. 1S 10| X185
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(71 I'heard Jane play the guitar. L= HM|210] 7|El X|l= HE
(L) I heard Jane playing the guitar. L= ®|2l0| 7|E} X]12 U
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3% Choose the best answer for the blank.

1. A: Do you think | should stack all these dishes together?

B: If I were you, | wouldn’t . The waiter will do that.
(A) bother (B) surprise

(C) alarm (D) relieve

2. A: Why are vegetables better than vitamin pills?

B: The vitamins in vegetables are more easily by the body.
(A) provided (B) finished

(C) given (D) absorbed

3. A: Can you what he looked like?

B: He was tall, he had long, brown hair, and he was thin.

(A) make (B) create

(C) describe (D) settle
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